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KS2 Arithmetic 

6085 
X  78 

 
 
 
 
 
 
 

8319 
X  96 

 

5897 + 9687 
       
                    

9102 - 7985 

 

8991 ÷ 9 
 

5792 ÷ 8 
 

6349 ÷ 7 
 
 
 
 
 
 
 
 

49.48 + 79.589 
 

86 – 49.782 
 

0 x 123= 

1 x 65 = 

 67 +       = 98 

    79 -       = 48 

- 48 = 35 

43 + 82 = 

      122 - 82 = 

5998=5000+          + 88 

 

MDCCCCXIV= 
 

2683= 
 

29.63-14.57+34.57 
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43% of 757= 7.59x100 =   
4.57 ÷ 100=   
8.58x10  =   
8.11 ÷ 10 =   
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72÷8 - 6x6 = 

4 x 11 + 7 x 3= 

0.9   45 = 

0.5 x 38= 

-19+12= 
12-17= 
-7+25= 
-4+36 = 
+9-19= 
-11-17= 

-12 x 6= 
-9 x -8 = 
-5 x -8= 

-35 ÷ 7 = 

-81 ÷ -9= 

108 ÷ -9= 
 

6720 ÷ 35= 

 

 

 

    

    

    


